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Figure 4.2 Representation of a cascade. In each period, the middle of the vertical segment is
the public belief; the top and the bottom of the segment are the beliefs of an optimist (with a
private signal s = 1) and of a pessimist (with signal s = 0). The private signals are s1 = 0, s2 =
1, s3 = 0, s4 = 1, s5 = 1.

A GEOMETRIC REPRESENTATION

The evolution of the beliefs is represented in Figure 4.2. In each period, a segment
represents the distribution of beliefs: the top of the segment represents the belief of
an optimist, the bottom the belief of a pessimist, and the midpoint the public belief.
The segments evolve randomly over time according to the observations.

In the first period, the belief of an optimist, µ+
1 , is above c , while the belief of a

pessimist, µ−
1 , is below c . The action is equal to the signal of the agent and thus reveals

that signal. In the figure, s1 = 0, and the first agent does not invest. His information
is incorporated in the public information: the public belief in the second period,
µ2, is identical to the belief of the first agent: µ2 = µ−

1 . The sequence of the signal
endowments is indicated in the figure. When there is social learning, the signal of agent
t is integrated into the public information of period t + 1. By use of the notation of the
previous chapter, µt+1 = µ̃t .

Consider now period 5 in the figure: Agent 5 is an optimist, invests, and reveals his
signal, because he could have been a pessimist who does not invest. His information
is incorporated in the public belief of the next period, and µ6 = µ+

5 . The belief of
a pessimist in period 6 is now higher than the cost c (here, it is equal to the public
belief µ5). In period 6, the belief of an agent is higher than the cost of investment,
whatever his signal. He invests, nothing is learned, and the public belief is the same in
period 7: a cascade begins in period 6. The cascade takes place because all the beliefs
are above the cutoff level c . This condition is met here because the public belief µ6

is strictly higher than µ∗∗. Now µ6 is identical to the belief of an optimist in period
5, and the cascade occurs because the beliefs of all investing agents are strictly higher
than µ∗∗ in period 5. A cascade takes place because of the high belief of the last agent,
who triggers the cascade. Because this property is essential for the occurrence of an
informational cascade, it is important and will be discussed later in more detail.

Cambridge Books Online © Cambridge University Press, 2010https://doi.org/10.1017/CBO9780511616372.005 Published online by Cambridge University Press

https://doi.org/10.1017/CBO9780511616372.005

